TEST P 1 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

1) Quadratic equations consist of of variable.
(A) Square d/ (B) Cube J
Il) Standard form of pure quadratic operationis ___.

(A) ax+b=0 (B) ax*+c=b

lll) Equation in which variable occurs in exponent is called __

(A) Radical $.4 (B) Exponential &L@}

IV) Solution set of 4x*—16=0is .

(a) {4 ®) {2}
V) Factors of X*—15x+56 are .

(A) (x—7)(x+8) (B) (x+7)(x—8)
VI) Methods to solve quadratic equation are ___.

(A) 2 (B) 3

Attempt the following questions. 2X7=14

1) Define quadratic equation and give example.

Il) Solve by completing square x*—2x—195=0

_+&n%_ﬁfo'5V&/;5) q
(D) Degree o

_Layd/.lrvd/c«bl/&u»fjl} (n

(C) Co-efficient ~(Ss4

(€) ax*+bx+c=0 (D) bx+c=0
equation. -‘aéwfcamuﬁbfc,@fﬁuﬁu%abv an
(C) Reciprocal J};‘ (D) None Jf J/

“4,»,%)”{ 4x*—-16=0 (v
(€) £2 ) 4

~ AL Xt =15x+56 (V
(D) (x+7)(x+8)

-@%}LL/U@’/:,UVJ.A» (Vi

©) (x=7)(x—8)

(C) 4 (D) 6
Q/J/&U’/gi}gjﬂ

_Q;uﬁucﬂ/’:’g{/.éfid/obv&uu q
X =2x-195=0 _y S Fe,JEs i

Ill) Solve by factorization x> =30x . 5x2=30x  _JSsEx QN
IV) Solve by quadratic formula 2+9x=>5x". 249x=5x"  _ S S UG (IV
V) Express in standard form (x+7)(x=3)=-7. (x+7)(x=3)=-7 -uf‘iuﬁyd/.l,v (v
V1) Solve: \/3x+18 =x Bx+18=x  _yJFf (v
VII) Solve: 3x7 +5=8x"' 3x?+5=8x"  _ s/ F (v
Attempt the following questions. 5X3=15 u:/d’/omrdj;'gjﬂ
1) Solve: 372 =12.3"-3 A (™
2) Solve: Vx+1+4/x=2=x+6 JAS @

—e C’:/}'i//bbgdf‘mugc'_ uﬁb@bﬂ/{f (3

3) One and only one circle can pass through three non-collinear points.




TEST P 1 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 u:/@v}b{b‘,lﬁc/ﬂ
I) In ax*+bx+c=0,if a=0 then equation becomes__ -%&@M&’}V?L@ﬂ/’aw ax* +bx+c=0 (
(A) Linear (5.sf (B) Quadratic (5.2 (C) Cubic .-~ (D) Exponantial &b’a}
Il) Solution setof x> —5x+6=0is__ . e SE X =5x+6=0 Qn
) {23 ®) {273} ©) {23} o) {23}
Ill) In standard quadratic equation, number of terms is ___. -%;uﬁJuéagt,u&/;,;d/y» (m
(A) 1 (B) 2 (C)3 (D) 4
IV) Solution set of (X—2)2 =0is__ . _La:f,rd’t{(x—z)z =0 (v
m {2 ®) {2} ) {2 ) {+4]
V) Equation of type 2x* —3x> +7x*—3x+2=0 iscalled___ 9&MQI;VJ() 2x*=3x*+T7x*=3x+2=0 (v
(A) Raciprocal u’:g” (B) Radical $ 4 (C) Exponantial Jb’a} (D) None JJ’G/
VI) Standard form of quadratic equationis __. -Laﬁd/gw{wu&w; (Vi
(A) bx+c=0 (B) ax*+bx+c=0 (C) ax* =bx D) ax*=0
Attempt the following questions. 2X7=14 q/d’/oﬂlrgjj B
I) Solve by quadratic formula X* +2x—2=0. X H+2x-2=0 _ S S8
I1) Define exponential equation and give example. -wd@mu/.gﬂfwuéu@} (n
lll) Solve by factorization x*—11x=152. X -1x=152  _ S A2.%
IV) Solve: (296—%)2 =% (2x—%}2 =% _J/U’ (v
V) Write in standard form x23+4—§=1 x2;4_§:1 -uf‘iuﬁdﬁdz&v (v
V1) Solve: 5x* =15x 5x*=15x  _y/F (i
VII) Solve: 2x* =9x* —4 2x'=9x-4  _ S F (i
Attempt the following questions. 5X3=15 u:/d’/owrdj Souhn
1) Solve: (x+D(x+3)(x=5)(x—=7) =192 UL (
2) Solve: VX +x+l-Jx +x-1=1 UL @

—e C’:/}'i//bbgdf‘mugc'_ uﬁb@bﬂ/{f (3

3) One and only one circle can pass through three non-collinear points.



TEST P 1 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
I) Inax®+bx+c=0ifb=0 then equation becomes__ -‘aglguﬂabl/?’;lgn}‘bui ax’*+bx+c=0_11 (1
(A) Quadratic (525 (B) Pure quadratic J./wu“] & (C) Linear u’./;.{ (D) Reciprocal J:G”

I) Number of variables in standard quadratic equationis__ ax’+bx+c=0 -‘L;lﬁu‘ayé”uﬁwu@»wyx ([

(A) 1 (B) 2 (€) 3 (D) 4
1) An equation of the type 3" +3°*+6=0 isa/an___ -_.g‘a(ﬁ 343 +6=0 =il (I
(A) Exponential Jlie#  (B) Radical §.ke (C) Raciprocal U¥** (D) None U274y
IV) Degree of quadratic equationis __. —e okt (IV
(A) 1 (B) 2 (€) 3 (D) 4
V) Solution set of X*—=5x+6=0is__ . -‘L&:J"K xX*=5x+6=0 (v
w1273 ®) 123 ©) (=23} ) (=23
VI) x> —=7x+10=0 can be solved by . _ 5 e X =Tx+10=0 (Vi
(A) Factorization f (B) Completing Square@/«ff< " (C) Quadratic formulads~6. (D) Al g
Attempt the following questions. 2X7=14 q/d’/oﬂlrgjj B
I) Solve by factorization x> —x—20=0 x*—x—-20=0 _Q/J’df.:gg/,'y a
Il) Define raciprocal equation and give example. _q;dcmu/bg/Uwuuﬁ‘ n
I11) Define quadratic equation and give example. _q;dmu/.gﬂfuw&m; (m
IV) Write in standard form ﬁ+xi4=3. xi4+xi4=3 _u:f‘iufdﬁd/gv (v
1 9 1) 9
V) Solve: (2x—5j =7 (2x_§) == g/ (v
VI) Solve by quadratic formula 5x* +8x+1=0. 50 +8x+1=0  _ s/ Fe s Gsss (VI
VII) Solve: S3x+18=x Br+18=x S f (i
Attempt the following questions. 5X3=15 Q/J’/.:«UVJ: Sk
1) Solve by completing square. x*—2x-195=0 _Q/J”é/df:g/ﬁf (1
2) Solve: Jx+3=3x-1 UL (@2

e S e e S (3

3) One and only one circle can pass through three non-collinear points.



TEST b 2 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf@a}b{.,,lz;vﬂ
1) *7 isequalto . - sls Cl, ; q
) & B) i p © %% o %
Il) Ifaand B are the roots of 7x2 —x+4 =0 the af is equals Junul Txr—x+4=0 «hif /;ia/i n
e af
) ®) 7 © 3 o) ;
1) Product of cube roots of unity is . -‘amvﬁd"b(..’»ﬁbjgﬁégi (1]
(A) 0 (B) 1 (€) -1 (D) 3
IV) Two square roots of unity are . _t B il S8 Qv
(A) 1,-1 B) Lo €) L-o (D) @,®’
V) Roots of equation 9x* —4x+1=0 are __. _ugujyé Ox*—4x+1=0 =L+ (V
(A) Irrational JJ’L/{ (B) Imaginary (}:?7;? (C) Real, unequal /.l/./fcc:é? (D) Real, Equal /.'/.c(:*}?
VI) If &% —4ac <0 then roots of ax® +bx+c =0 wilbe & wrl ax® +bx+c =03 b —dac <0 S (VI
(A) Irrational (¢4 (B) Rational (¥t (C) Unreal 354 (D) None U273y
Attempt the following questions. 2X7=14 -Q‘/J’/.:«UVJ: S
I) Show that product of cube roots of unity is 1. _91*/2;}’&(..,»@/1?1@%&{/@% q
Il) Write an equation whose roots are 2,-6. -uﬂZAI-GujuL ‘ﬁu‘f‘@w»&u» (]
1) Discuss the nature of roots of equation 2x* +3x+7=0, -uf/&(u“ld/u‘zjé 2x*4+3x+7=0 ~nls (I
IV) Evaluate (1-o-o )7 (I-o-o )7 JIrad (v
V) Define simultaneous equations. -q/bg/"Ju?uwW (v
vI) Using synthetic division, find quotient and remainder when 2 o Qe N e Je1Z i
(x* +7x—1)=(x+1) (x* +7x—1)+(x+1)
VII) Find discriminant 4x* —7x—2=0, 4x?=T7x-2=0 _q/rMMJ/' v
Attempt the following questions. 5X3=15 -J/J’/.:«UVJ’ Sk
1) Show that the roots of equation c+a’(l1+m?) ZxX*+(mx+c)=a _J;VJ/J/_/L* (1
x*+(mx+c) =a’ are equal if /Lf/!/u"u
4x2-5y2=6

2) Solve system of simultaneous equations.

5 | A1
3x2+y2 =14 LA (2
-‘Lm}ff?},b,w“u’,L/Jf’“af(m/?z)},u”@aéégjb (3

3) Astraight line drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.



TEST b 2 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 U:I@D}b{b‘,l)?:/})
) fa& B areroots of 3x> +5x—2=0 thena a4+ B equals; < 4. A+ ?u;wjui 3x2+5x=2=0 5 waJ
Ok ® > © -2 o -2
I1) Sum of cube roots of unity is . _‘Ltmﬁ’{.gﬁugééw an
(A) 0 (B) 1 (C) -1 D) 3
Ill) Roots of equation 4x> —=5x+2=0 are __. -ugujui 4x* =5x+2=0 =i~ (N
(A) Irrational (Pt# (B) Rational (¢ (C) Unreal 354 (D) None U3
IV) @* equals __. ez @' (IV
(A) @ (B) ~@ (€) »* (D) @’
V) Sum of roots of ax®>+bx+c=01is__. -‘airf(ujui ax*+bx+c=0 =l (V
- ® © - o
VI) Product of roots of ax*+bx+c=01is__. -LL*/}JIBKUJML ax’>+bx+c=0 =lsls (VI
- ® © - 0
Attempt the following questions. 2X7=14 -Q/J’/.:«UVJ: SounH
1) Find discriminant of x* —3x+3=0. i3 0 =3x4+3=0 =it (1
Il) Evaluate: (—1+@)6+(—1—Jj3)6 (—1+Jj3)6+(—1—J——3)6 _Q/?)”.wf (]
I11) Show that sum of cube roots of unity is zero. - L“n/",;ﬁ(ﬂb@&&?’f@/at‘ (m
IV) Define synthetic division. SN IA(
V) Write an equation of the roots -2,3. u:f‘t!;l/‘f /wdbgﬂ; 2,3 (V
Vi) |f(—1] and IB are the roots of 4x* —5x+6 =0 then find :’unﬂui 4x? —5x+6=0 =lsl~» B /,la/ VI
apap e G
VII) Find cube roots of 8. _q/pbf.,ﬂwés Vil
Attempt the following questions. 5X3=15 -J/J’:LUVJ Sk
1) Find the nature of the roots of the give equation ¥2+23x+120=0 AU/()’“‘ wJL/yL.,ut/d/d; (1
and verify the results by solving the equation. - S u’ MJJLL/J’;’;UV
2) Show that X +y =(x+y)x+oy)(x+a’y) St (2

- t’n;}f/?/"ﬁbjpﬁﬂ’5L/Jz’}“d/(ﬁéﬁﬁ)/"ﬁ(f;g’c'_}'}ég//b (3

3) Astraight line drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.




TEST b 2 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
I) Sum of cube roots of unityis __. -‘Lﬂz’g_fﬂwééw a
(A) 0 (B) 1 (C) -1 D) 3
I) Discriminant of ax® +bx+c=0is__. —e I3 ax’ +bx+e=0 =hie (Il
(A) b*—4ac (B) b* +4ac (C) —b* —4ac (D) —b* +4ac
) Ifaand /B are the roots of x> —x—1=0 then product of 2a ?unujui x2=—x—-1=0 = hl~+ ﬂmaﬁ (m
and 2B is . —e e PS8 20,20
(A) -2 (B) 2 (C) -4 (D) 4
IV) Two square roots of unity are . _t Bl S8 Qv
(A) 0,0’ B) L—w C) Lo D) 1,—1
V) (a+ ) —2ap equals __. —eslz (a+ By =2ap (v
(A) @’ + (B) a’—p° (C) (a+/3)3 (D) (a—ﬁf
VI) If discriminant is zero, then roots are . -@Lnuﬂﬁn}‘w‘@)/ﬂ (vI
(A) Equal Lz (B) Rational ¢ (C) Real & (D) All U7
Attempt the following questions. 2X7=14 -Q/J’/.:«UVJ: sounr | K@ /,‘U’r‘
1) Show that product of cube roots of unity is 1. -Lat“nk,«/’flag.fﬂbjgééqu/qv a
Il) Write an equation of the given roots (1+4),(1-1) (1+1),(1-1) _Mau,w&wduﬂé;; n
M) Evaluate ~ (9+40+40?) (9+do+dw) [ Sokand QN
IV) Define simultaneous equation. -q/.g/"Ju?uwm (v

V) Find remainder,quotient by synthetic division if (x> +7x+1D)+(x+1) Q/(’L‘”@l,ﬂlujgj"lac;dwf*léﬁ%ﬁ (v
VI) Without solving find the sum and product of px*—gx+r=0 -Q/pl’”b,«/d'ibuuyf{u'ﬁ/jféf i

VII) Find discriminant. 9x*—30x+25=0 3 (v
Attempt the following questions. 5X3=15 _Q:/'/J,}(@U’}”J: Pl (3 /.’U’r‘

1) Ifaand £ are roots of x> +mx+n=0 thenfind @' B* +a* .
-g/})**.wfd/ @B +a B J Ll I +mx+n=0 wilsf sl (1
2) Find p if roots of equation differ by 2. X’ +3x+p—2=0 néjgzuﬁﬁjéau,uﬁq/(ku&! p (2
e b sl S s i) s e Spl e 3 (3

3) Astraight line drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.



TEST b 3 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

1) Inratiox:y,yiscalled .

3

(A) Relation Jw
) If uocVv? then .

(A) u=v?

(B) Antecedent f:&f

(B) u=hkv?
a C
) If --=— then componando theoremis .
A a . B a _ C
(A) a+b c+d (B) a-b c-d
IV) 3rd proportional of x> and ¥’ s
2
Y X
") ®) 2
V) In proportion a:b::c:d, a and d are called ___.
(A) Means uf"; (B) Extrems J3/
VI) The relation between two same quantities is called ___.

(A) Ratio =’

(B) Proportion ot

2X7=14

Attempt the following questions.

1) Define proportion.

Il) Find the cost of 8kg of mangoes. If 5kg of mangoes cost
l) Find a 3rd proportional to (xz _yz)»(x"’ ).

IV) If 3(4x—5y) =2x—="TY then find Xy.

V) Find mean proportional between 20,45.

1
VI) |f yoc — and y=4 when x=3 find k.

da+5b 4c+5d
4a—-5b 4c-5d°

VII) Show that a:b=c:d if

Attempt the following questions. 5X3=15

1) Solve by componendo dividendo theorem

(=27 (-4} _12

_+bMyuﬁx:yafj a
(D) None uﬁ’@/

- dwuccv:

(C) Consequent ﬁ:d )9

C) =k D) uv* =1
‘bLb“/{jyg’//““ﬂ %=§ﬁ (m
d -b c—d
c) =1 0) ——=
( bc b d
-a._,wt:iﬁ.:g Y ax: (v
2 4
) i—4 (D) i_z

~gr W dulagtabicdert (V
(C) 4th proportional <t (D) None u.'?’&;’/
AUl s sE L (VI

(D) Equality ($«/z
SIS S5 pie
BV I
Rs:250 wd JurT5kg Ml /ied furTekg (I
(=22 )(x+y) g Qn
Uy 3(4x=5y)=2x=Ty Ji (v
20,45 e wW3hs (V

3

(C) Relation Jw

o o 1
Yl S kiex=3zy=4. yoc =S (VI

X
da+5b dc+5d -
ST ST fab=cidy St (VI

4a-5b 4de-5d
SIS 5o | R YIE

e S (1

(x—2)* +(x—4)°

13

_wit=41sIx=2, z=3f¢@/}k"o€d/y?nt=3/ﬂx=4, z=2b,>.y=’|6/;ingjﬁ”juﬁ 1,27 iyt e X Kyﬁ (2

2) Ify varies directly as x* and inversely as z> and t, and y=16. when x=4, z=2, t=3. find y when x=2, z=3, t=4.

3) Perpendicular from the centre of a circle on a chord bisect it.

—e b/ _,a:‘;u( /3»‘2/342&;)95;?’) (3




TEST b 3 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; § /,‘U’r‘
u v 7Y, z
) If —=—=k then . . d—=—=k i (I
v w v w
(A) u=vk’ (B) u=wk C) u=vk (D) u =wk*
Il) In proportion a:b::c:d, b and c are called __. _Q!LMc/ﬂbui'a:b::c:ds_/t? (n
(A) Means uf”; (B) Extremes uf/” (C) 4th proportional <t (D) None u.?@/
) 3rd proportional of x> and Y’ is . e Bl Y2 ox® Qi
2 4 2
Y Y Y
() = B) = € = 0) ¥y’
a c¢ . . a c¢ z
IV) If 7=~ then alternendo theorem __. —e el 5 47 av
a_b a_c a+b c+d a-b c—d
= B) 5= © = LA
V) If ¥’ < — then - Iy iV
k 1
W= ®) = © »*=x ) ¥ =k
VI) The equivalence of two ratios is ___. - ’ZJ}@‘) Ld/.l/.ul“fwé u}"ﬂ;; (vI
(A) Proportion «t (B) Ratio v (C) Equality (L« (D) All (L/"

Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj EEyAl (2 /:‘U’r‘
1) Define direct proportion. _Q/L?y/."d/cwb} q
I) Find 4th proportional of 5, 8 , 15. -Q/r)‘”.,wt?'ﬁgﬂ&wﬁ ([
Ill) Find 3rd proportional of (a*=b*),(a=b) -Q/r)‘”./l'}'I/fK (@®>=b*),(a=b) (i
IV) If voc R* and v=5 when R=3 then find value of k. -q/rk@é S KiR=3_2v=5.51v o€ R’ Jav
V) Find the value of x. 8—x:11-x:16—x:25-x -L.{/(’L’”&ffurx (v

2a+9b 2c+9d 2a+9b 2c¢+9d -

VI i b - = b vabrcd (VI

) If a:b::c:d then show that 5 0h Dot T S dabicd S

VII) Find x, 6:x::3:5 6:x::3:5 Q/(’L‘“bxfurx (v

Attempt the following questions. 5X3=15 _uj)/d’/owrdj pry 3l (3 /:‘U’r‘
1) Solve by componendo dividendo theorem of Vil +2 442’ =2 _y ﬁq/di«.dz‘%J))? (1

\/x2 +2 - \/x2 -2

u=6,,§.Q/'C}’“‘c‘g 11 w?nu=3¢w=5/;inwﬁ”f¢¢(£ug w2

2) If wvaries inversely as cube of u and w=5 when u=>5 then find w where u=6

3) Perpendicular from the centre of a circle on a chord bisect it. - /s /“»//?/“)g’c—}'}ég//b (3



TEST b 3 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 u:/@v}b{b‘,lﬁc/ﬂ
1) In proportion 4:x::5:15, value of xis ___. -+¢£ng:4:x::5:15.,/t7 q
w = ® 5 © - o 12
Il) In x:y::v:w, 4th proportional wis ___. -Law.rfﬁﬁguﬁx:y::v:w ([
(A) = (B) = € = (D) xyw
v x vy
Ill) Types of proportion are ___. _ugru“id/.,w& (1]
(A) 2 (B) 3 (C) 4 (D) 5
IV) Inratio a:b, a is called ___. _LaL“Uv‘(aui'a:bc«»gj (v
(A) Relation (B) 1st Term (C) 2nd Term (D) None
V) If ¥ %X and y=8 when x=2 then k equals . e lrkdnx=2eay=8.1 Y C X i (v
(A) 4 (B) 6 (C) 8 (D) 16
VI) Simplest form of is . -‘Ldﬁcﬁuwf 75°:225° =t (VI
(A) 3:9 (B) 1:3 (C) 3:1 (D) 3:5
Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj B
1) Define inverse proportion. - /Ly /'Jd/u’ﬁ‘/:’? q
Il) Express into simplest ratio and fraction 450cm:3m 450cm:3m _Q/J W /L’MQ/“UL/T q]
lll) Find p if ratios 2p+5:3p+4 and 3:4 are equal. -u:f/.’/.3:4;;12p+5:3p+4ufyfu/()’”p (m
IV) Find 3rd proportional between 12, 6. 6,12 Q/ﬂ’@/l’ﬁ'ﬁ? v
V) Find 4th proportional to 8 , 7 , 6. L E6568,7,6 (V
VI) If a:b=5:8 and find the value of 3a+4b:5a+7b. _q//()h”d d/3a+4b:5a+7b?ﬂa:b=5:8/f’ i
VII) Find the value of x in continued proportional. 8,x,18 8,x,18 q/pl’“‘ogd/xuﬁ./li‘fy (vn
Attempt the following questions. 5X3=15 -Q/J’/camrdj B
1) If%=§:?thensh0wthat %:\/7% f@/ﬁat’"?ﬂ%zgz?ﬁ (1

2) Solve by using componendo dividendo theorem \/“ it +\/“ i :% _q/anL/JW!MJ}P (2
x+3-+/x-3

3) Perpendicular from the centre of a circle on a chord bisect it. - L“/J;"“d/ /“»/4/“542!:_}95;/”; (3



TEST b 4 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
I) Fraction in which degree of numerator is less than denomenator is called ___. -‘alrllf/:ct’;%’cguia Fonkoi gt S
(A) Proper fraction /,.».u (B) Improper /;».b/f (C) Identity =L (D) None JJ’G/
) (x+3) =x>+6x+9 isafan___. ce LI (x43) =x2+6x+9 (i
(A) Fraction g (B) Identity =L (C) Equation < fsl~ (D) None u“ J/
r—2 _ J =)
M) o) salan - —1)( +2) an
(A) Proper fraction /uzb (B) Improper /;».b/{ (C) Equation «lsl» (D) Identity =L
N(x - 5 s
IV) Expression % where N(x), D(x) are polynomials in xis __. _‘adwfu;fuy’//?(uix D(x)s/N(x Jm v
(A) Fraction / (B) Rational fraction /Jb ¢ (C) Irrational fraction Jb L‘/:f (D) None JJU/
V) In Improper fraction, degree of numeratoris ___ denominator. _‘me_gnéé, }g»%ﬁjﬁuﬁ /;».b/f (v
(A) Less k52 : (B) Equal /¢ (C) Greater 1 (D) Greater or eaual Aol
x° +1 x* +1
VI) Partial fraction of ———— are ___. < uC/d;J d/ (VI
oA B (x+1)(x;*Ax+B+L o 144 Brte g 1+_+_1)( 1)
( x+1 x-1 (B) x+1  x-1 () x+1 x—1 (b) x+1 x-1
Attempt the following questions. 2X7=14 _Q/J’/c,wrdj}gjﬂ (2/:‘U!r
1) Define partial fractions and give example. _q;d’:dlf’mu”/..y/'}@/dfz q
2
I) Convert into proper fraction W% (;_5)2&:13) JAS et A
Ill) Define rational fraction and give example. _J;d’{dt‘f/;U/JfJ/JLt (m
11 11
IV) Resolve into partial fractions (r—4)(x:3) -J /U’L{ Vo852 iy IV
3x2415x+16 3x2415x+16
V) Convertinto proper fraction % gL S x(: +2§: v
I
VI) Resolve into partial fractions 2 _Q/JT}{ u:/)’/d}f}( 25 (VI
VII) Convert into proper fraction X~ /(x*+1)? x*/(x* +1)° Q/J“iuﬁ/.,eb (v
Attempt the following questions. 5X3=15 _ujfd’/oﬂlrdj;'gjﬂ (3/:‘U!r
) ) ) 3x+7 > .
1) Resolve into partial fractions 13+ d) _Q/U:L{ u.f//u’;]. (1
9 .
2) Resolve into partial fractions —_— _Q/JF u://d;'z (2

(x—D)(x+2)
-t Ln.lfLﬁ’u’;L»‘c'_}?u;u;fgflf”/“juéz_//b/’/’ (3
3) Iftwo chords of a circle are congruent then they will be equidistant from the centre.



TEST b 4 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

I) Fraction in which degree of numerator is greater than denominator is

(A) Proper fraction /,.».u (B) Improper .‘».b/:f

-2
)] Partial fraction of (x_f)w are ___

B Bx+C

(A) x 1 x+2

1) m isalan ___

(B) x— l x+2 (C) x— 1

(A) Proper fraction /,.».u (B) Improper b/.i;/;;
V) (5X+4)2 =25x*+40x+16 is true for

(A) 1 value of x (B) 2 values of x
V) Inimproper fraction degree of numeratoris ___ than denominator.
(A) Less ts2 (B) Greater 12
X341 .
Vi) G=D)(x12) 18 alan
(A) Properfraction /.‘».b (B) Improper b/.i;/;;

(C) Equation < fsl~

EE) (5x+4)* =25x>+40x+16 (v
(C) All values of x
ce e ond B Fonbos it Sl (W
(C) Equal Lz

(C) Identity A’

. _+3U¢Cfizcg/;£@}g/;Ko»UfPuﬁf/ a
(C) Identity Al

(D) None U274y
628 e Qi
0)
el Gengen

(D) None U273y

(D) None U0

(D) Greater or equal zlz.s/1%
341
_LJ(X ){)(x_,_z) (VI

(D) None 73y

Attempt the following questions. 2X7=14

SIS S s ine

1) Define rational fraction and give example.

Il) Define partial fractions and give example.

1) Resolve into fractions 77y
4
(*+2)7

. . . Sx+4
V) Resolve into partial fractions (x—4)(x+2)

IV) Convert into proper fraction

VI) Define similarity and give example.

ey S A5
el S 8 sz Qi

3

Gy LA Qi

T U

S5x+4

(x—4)(x+2) SIS s (V

el S el (v
x“+2x+1 Q/'U:/‘:“U:/")” (v

(x—2)(x+3

SIS e S 5

V) Convert int eact X +2x+1
onvert into proper fraction —2)(x+3
Attempt the following questions. 5X3=15
2
1) Resolve into partial fractions. x—2
(x+2)(x"+4
2
2) Resolve into partial fractions. szﬂl
(x+2)"(x+3

_q/ﬁuﬁ//d;f (1
_q/ﬁuﬁ//d;f (2

_uj’erJ—ﬁW’d;Lf‘cﬂ}u?u:fgflf”/“wégf/b/ﬁ (3
3) Iftwo chords of a circle are congruent then they will be equidistant from the centre.




TEST b 4 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 VLSRN (1)1
) (x+3)=x+6x+9is___. -‘a.g (x+3)*=x*+6x+9 (
(A) Fraction -~ (B) Equation lsl+ (C) Identity Al (D) Constant Lx "
2x+1 _ J 2x+1
) DD 3 - —(x 1) q
(A) Pro3oerfraction /b,o.b (B) Equation < /sl~ (C) Improper 2132 (D) None u’”f 17g -
x +1 .
1)) m isa___ . . ‘ —LJ o —l)ﬁ +2) m
(A) Properfraction /..».b (B) Improper —2ls (C) ldentity w4’ (D) Constant /LWJ”/
IV) In proper fraction, degree of numeratoris ___ degree of denominator. - L"n;,wﬁ@ f,w %Mb’uﬁ /..».b (v
(A) Greater I (B) Eaual i (C) Less &% (D) None 034
x+2 xX+2
V) Partial fractions of m are . -u’//u’;}d/ m (v
A, B A Bx+C Ax+B, C A,
(A) A+1 X242 (B) x+l x242 (C) x+1 x2+1 (D) A+1 X242
VI) Fraction in which degree of numerator and denominator are equal ___. ‘L(}M/.'/.L,?J)LCU }g/;%ﬁf?uﬁu? / (v
(A) Proper ~/_2s (B) Improper ~/—21s # (C) Identity L1 (D) None 74y
Attempt the following questions. 2X7=14 -Q/J’/.:«UVJ: sounr | K@ /,‘U’r‘
1) Define partial fractions and give example. _Q;u":dt‘wu/h@fd///dﬁi ¢
I) Define proper fraction and give example. _Q;u"'ut‘wu/h@/d//,—eb q
Tx-25 Tx-25 >
Il) Resolve into partial fractions o3 D3 J*/J:L{ g ray Al
6x> +5x> -7 6x> +5x> -7
\Y} . . - = - S f (IV
) Convert into proper fraction 37 — 271 3 — 21 v /J: g /.,9 s
s ‘4
V) Convert into proper fraction f : 2x . J/J K /.».b (v
x (x=1) x (x-1) " ¢
1 1 >
-~ S IR Sz
VII) Show that (x+3)* =x"+6x+9 ek fi(x+3) =2 +6x+9 1y Lo (VI
Attempt the following questions. 5X3=15 _ujfd’/oﬂlrdj;'gjﬂ (3 /:‘U’r‘
: : , 1 2 X
1) Resolve into partial fractions. -D0+]) _Q/U:L{ u.f//u’;]. (1
, , , 9x -7 ; .
2) Resolve into partial fractions G - /UF u://d;z (2

-t Lﬁ,lnﬂLﬁlu’;VL)?D}?UMJB’?)»L(.//D/;’ (3
3) Iftwo chords of a circle are congruent then they will be equidistant from the centre.



TEST P 5 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35
NAME ROLL NO SECTION

TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option J 1X6=06 uf@u}bg.,lﬁw/) (1 /,‘U’r‘

) Number of elements in power set of {1,2,3}. -+;iﬁJuK/l£¢5/;g£{1,2,3} a
(A) 4 (B) 6 (C)8 (D) 9

I1) If A and B are disjoint sets then 4\U B isequalto . —esle AU BiuserJ?4BaAS QI
(A) A (B) B € 4 D) Bu A

Il) Methods to describe a setare . -@&}LL&&/&{ an
(A) 1 (B) 2 (C)3 (D) 4

IV) Set which has no element . -n;dgéfuﬁ‘ﬁ&: (v

(A) Subset Q*C(? (B) Empty set 2xdb
V) If AC B then AN B equals __.
(A) A (B) B
V1) Domain of R ={(0.2).(2.3).(3.3).(3.4)} is __
(a) {0,3,4f B) {0,2,3}

Attempt the following questions. 2X7=14

I) Define set and give example.

1) What is union of two sets?

my if 4={1,3,5,7,9},8={1,4,7,10} and
C={1,5,8,10} then find 4 (BUC).

IV) Findaand b if (2a+5,3)=(7,b—4)

V) If X ={2,4,6,8........,20} and
Y ={4,8,12,.......,24} then find X-Y.

Vi) If A={a,b} and B={c,d| then find AxB.

Vi) If A={1,2,3,...6} and B={2,4,6,8} show
ANB=BnNA

Attempt the following questions. 5X3=15

(C) Singleton set :.«5&!,«” (D) Super set L/
-csle ANB 9w Ac B /i (v
(D) None

ce et R={(02),(23).:3).6.4) (W

0) {2.3:4}

SIS e S 5
_q;d’fdb“mu/..yﬂfq q
?4,;’/&-((_&:{5();.‘:’3) (n
s A={1,3,5,7,9),B={1,4,7,10} /i (i
U AU(BUC) Jx C={1,5,8,10}
(2a+5,3)=(7,b-4) Sy /o b IV
sl X ={2,4,68,......,20} Ji (v
S XY B Y ={4,8,12,.......,24)
_wB={c,d} Ly A={a,b} Sy o AxB (VI
b B={2,4,6,8) 4 A={1,2,3,..6} /1 (il
ANB=BNA4 q/

IS e S s

€ 4

) {0.2,4]

1) f A={13,5,7,9},B={2,3,4,5,8} ang U ={1,2,3,...,10} gnow that (AUB)'=4'" B’

(AUB)'=A'"NB" 7 Jetin U={1,23,..,10} ,4={1,3,5,7,9},B={2,3,4,58} /i (1

2) If Y={-2,1,2} then make two binary relations for ¥ x Y . Also find their domain and range.

_u?.dgdp'/é'uﬂuﬁﬁfu(ui_uf%’ué@»cuﬁ' YxY ;MY={—2,1,2}/K’ (2

_uzLﬁgfL?”ﬂ LUse oIS l/c;)&ﬁ))»é;//b (3

3) Two chords of a circle which are equidistant from the centre are congruent.




TEST P 5 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 u;’ ;/._,L?.//:
T(AUB)UC equals . _‘L/.u/.(AuB)uC Q
) AN(BUC) B) AN(BNC) ) AU(BNC) o) AV(BUC)
) Set {x|xeW Ax<101}js _‘Lw‘n@%« {x|xeW Ax<101}
(A) Infinite set x5t3#  (B) Subset :g[}; (C) Finite set a(Sit® (D) Empty set &xb
M) if AC B then AU B equals. —e st AUBIACB Ji(n
(A) A (B) B ©) # (D) None (35
IV) Power set of empty setis . ~ebmerulEerdb IV
w ®) {a} ©) {4-1a}} o {#}
V) Set with one element is called . -/«J( LS e (V
(A) Empty set x4l (B) Power set =xusl (C) Singleton set .*.«5("{ (D) Subset JU;
VI) If A B then A-Bequals . ez ABIw Ac BT (VI
(A) A (B) B () & (D) B-A
Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj RSy
I) Define intersection of sets. ?‘L;t/k[c;lf U
Iy Define function. NS AN (]

) Find AU B if 4={1,2,3,4,5,6} and B={2,4,6,8} wA={1,2,3,4,5,6} Jis s 40B (N
B={2,4,6,8)

IV) If A=N and B=W then find A-B. ~ U AB P B=W sl AN T (V
V) If X={a,b.c} and ¥ ={d.e} thenfind X xY /) o XxY 3 Y ={d,e}.st X ={a,b,c} Ji (v
VI) Find A and Bif (a—4,6-2)=(2,1) (a 4,b-2)=(2,1) Sy baa (i
v If X ={1,4,7,9} and ¥ ={2,4,5,9} thenfind X NY . Y ={2,4,5,9} » X ={1,4,7,9} /i (v
Ul XY
Attempt the following questions. 5X3=15 -Q:/J’/@U’}*U:L?Jﬂ

1) If A:{1,3,5,7,9},3:{1,4,7,10} and U={l,2,3,4,...,10} then find (AﬁB), A URB
(AmB)':A,UB' u:/':;‘/;t';}/i U:{19293949' } sl A
2) If A4={1,3,5,7,9},B={1,4,7,10} 5,q4C ={1,5,8,10} tnen show that

(1,3,5,7,9},B={1,4,7,10} jj (1
(

(AmB)mC:Am(BmC) Ut C {1 5,8 IO}J,,A {1,3,5 } ={1,4,7,10} j (2

AmB)mC Am(BmC)

-uj’LnJl}“ﬂl:u:'z,l-ﬁb?ﬂd;l/c}'}}?/“wig//b (3

3) Two chords of a circle which are equidistant from the centre are congruent.



TEST P 5 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Ontion 1X6=06 u:{@b}’)/u’)?yj)|
I) Set QZ{% a,bezf\bio} is called ___. -‘Lt'MQ:{% a,beZAb#0rp (|
(A) Whole no. ;wuf( (B) Natural no. sLel(b.3 (C) Rational no. sLe/Pt (D) Irrational no. sLel Pt #
) (AUB) equals__. —eslz (AVUB)
(A) A°U B (B) A° B ©) (AN B) (D) None (5
1) Number of elements in power set of {1,2,3} is __. -9;'&J¢)KA£¢¢0&£{L 2,3} (m
(A) 4 (B) 6 (C) 8 (D) 9
V) Range of R ={(1,3),(2.2),3,1)(4.4)} is < &8 R={(13).(2.2).3.D4.4)} (v
() {1.2,4f (B) {3,2,4} ©) {1.2,3,4| 0 {1.3.4
V) Set {1,2,3,.... s —elx {1,2,3,....} (v
(A) Natural numbers (B) Whole numbers (C) Real numbers (D) None JJ'G:’/
Vi) If AC B then A-B equals . —e M ABIACB Ji(w
(A) A (B) B (C) B-P (o) &
Attempt the following questions. 2X7=14 -Q/J’/.:«UVJ: SounH
I) Define set and give example. -wd%u/.gﬂfq (
I) Define into function. _q/bg/"u@“/@}u’ n
Ill) Write down the laws of De-Morgan. _u:f‘iufl;’ZJdef (m
V) If A={a,b} and B={~13} thenfind AxB and BxA s AxB s B={-13} . A={a,b} fi (v
- /r)’” Bx A

V) If A={1,2,3,4,5} and B={2,4,5,6,8} thenfind A-B.  ¥» B={2,4,5,6,8} s A:{1,2,3,4,5}f; (Vv
v g:

VI) Findaand b if 3—2a,b—1)=(a—7,2b+5). Ay Sp#bosta (VI
»(3-2a,b-1)=(a—-7,2b+5)

Vi) If A={1,3,5,7,9} and B={1,4,7,10} then show Jn B={1,4,7,10} 1 A :{1,3,5,7,9}f; (v
ANB=BNA, -ANB=BNA J /=t

Attempt the following questions. 5X3=15 -u:/d’/owrdj Souhr

1) If A={1,3,5,7,9},B={1,4,7,10} and U ={1,2,3,....,10} then show that (4—B)'=A'"UB.
(A=BY = A'UB S 3o U ={1,2,3,...,10} o A={1,3,5,7,9},B={1,4,7,10) 1 (1
2) If L={x|xe NAx<5} and M={y|yeP/\y<10} then find a relation R, ={X,y|y=x}.
SR ={xyy=x] J%%M(_L}nM:{y‘yeP/\y<lO} sL={x|xe NAx<5} J (2
-ujLngﬁ?ﬂl:u:'z,l-ﬁb?ﬂd;l/c}'}}?/“wig//b (3

3) Two chords of a circle which are equidistant from the centre are congruent.



TEST b 6 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION

TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ

I) Histogram is a set of adjacent __. -+;}f '3 _,Wﬁpg £ A
(A) Squares Us # (B) Rectangles §U s (C) Circles Us#1s (D) Closed figure §_Fc:

1) Mean is affected by change in . _‘L(mg,)f,«;c;é_/u,«;_bﬂ(}u ([
(A) Place ,5 (B) Scale Jj [T (C) Rate /L@f/,;/' (D) None u.?@/

1) Methods to find arithmetic mean are . LG AL Sl (i
(A) 1 (B) 2 (C) 3 (D) 4

IV) Sum of daviation of variable X from its mean position is always__ +bn_%;:f KJ%@L&'QV&J g X/i"& u’( (v
(A) Zero s (B) One {1 (C) Same Lo (]l (D) None U274y

V) Measure which gives middle most measure in a data setis __. _z_mdwg;@w;g;w (v
(A) Median .2~ (B) Mode »sk (C) Arithmetic Mean w@u (D) None u.?@/

VI) The spread of observations in a data set is called: - L“ilfﬁllfé (1O uﬁ;lﬂf( (i
(A) Dispersion (%1 (B) Average L~ (C) Mean _:lb-s (D) Centeral tendency uk?ud}}
Attempt the following questions. 2X7=14 -Q/J’/.:«Ulrdj;',gjp
I) Define mode and range. -Q/;y/d/&ﬁ»’ulo a
Il) Find arithmetic mean 12,14,17,20,24,29,35,45. 12,14,17,20,24,29,35,45 Q/(}"’LAN_}L? (n
lll) Define standard daviation and write its formula. _u;%’fu;o G/;u/.é/?d/dlfld/.l,v (m
IV) Write three characteristics of arithmetic mean. _uf‘iagar‘}uf d/Jw’QL) (v
V) Find hormonic mean 12,5,8,4. 12584 -/ # bl &4 (V
VI) Find mode 12,6,5,6,4,2,4,6. 12,6,5,6,4,2,4,6 Q/pl’”ulo (VI
VII) Find variation 5,3,1,2,4. 53,1,2,4 Q/pl’”c«/éy (v
Attempt the following questions. 5X3=15 -u:/d’/omrdj;'gjﬂ
1) Find standard daviation _J”/()’“‘Jlf.’d/.l,v (1
No 33-40 | 41-50 51-60 61-70 71-75

Freq 28 31 12 9 5

2) Find arithmetic mean by direct method 11500, 12400, 15000, 14500, 14800 _y/psbosi o3y eriols (2
PN AR Y S ST IR S-Sy S § IR ¢

3) The measure of a central angle of a minor are of a circle, is double that of the angle subtended by the corresponding major arc.



TEST b 6 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) Measure that gives middle most value in a data setis __. -le),&ynu@w;gtg! a
(A) Median :-s (B) Mode »:lv (C) Arithmatic mean -sI}> (D) None (2704
Il) The observation that divide a data set into four equal parts is called ___. -;/KZE z/:ur%tgﬁwmg;w ([
(A) Deciles -« (B) Quartiles ~~J.tz (C) Percentiles ~<>($44* (D) Harmonic Jz/;l..ﬂ/"’(?
Ill) Mean is affected by change in . _+bnjlxlﬁch/g,)fi_b;lQu an
(A) Place .5 (B) Scale <k, (C) Rate /L« (D) Origin 4
IV) A data in the form of frequency distribution is called ___. - L"M;iruifﬁd/ﬁ%;ﬁ (v
(A) Grouped data;!ru'c;/ (B) Ungrouped data;i/u‘u/jé (C) Histogram :ﬂuj K (D) None JJ'G/
V) A daviation is the difference of any value of the variable froma ___ -J}K_c&»fuci&/fﬁp(g/‘a*%f(df' (v
(A) Constant J}‘"’A (B) Histogram .:%) K (C) Sum P (D) Difference 3/
VI) Histogram is a set of adjacent ____. __p%,,f;ﬁ(j K (VI
(A) Squares Us # (B) Rectangles 6™ (C) Circles §Us /1 (D) All 17
Attempt the following questions. 2X7=14 -Q/J’/.:«Ulrdj;',gjp
I) Define measures of central tendency with two examples u:f‘irté UP Gl Sy fd/é_géu@/dﬂ} ¢
Il) Find median of 4,6,8,9,5,7. 4,6,8,9,5,7 Q/?)’”::Uw (u
lll) Find harmonic mean 12,5,8,4. 12,5,8,4 Q/(P»;’..@Tﬁ m
IV) Define weighted arithmatic mean. _q/.éfJ»;’QV&J; (v
V) Find arithmatic mean 200,225,350,375,270. 200,225,350,375,270 J”/(}VJM’QP (v
VI) Find range 11500,12400,15000,14500. 11500,12400,15000,14500 Q/pl’”w VI
VII) Define measures of dispersion and write its name. _u:f‘irtéu’/;u/;yfgfuig (v
Attempt the following questions. 5X3=15 -u:/d’/omrdj;'gjﬂ
1) Find mean U0 (1
Length | 20-22 | 23-25 | 26-28 | 29-31 | 32-34
Freq 3 6 12 9 2
2) Find standard daviation 9,3,8,8,09,8,9,18 S OIAG A (2

PN AR Y S ST IR S-Sy S § IR ¢

3) The measure of a central angle of a minor are of a circle, is double that of the angle subtended by the corresponding major arc.



TEST > 6 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) What is the mid value of the interval (34-38)? -Laaax’: &w& (34-38),535‘? lz A
(A) 10 (B) 25 (C) 90 (D) 100

Il) Afrequency polygon is a many sided __.

(A) Closed figure £:  (B) Rectangle J=~
) For the data 0,1,4,6,7,9,12 the medianis __.
(A) 0 (B) 6

IV) The spread of observations in a data setis called ___.

(A) Arrange L-s! (B) Dispersion =1

V) Extent of variations b/w two extremes observation of a data set is measured by ___.

(A) Range &>~ (B) Mean L~/
VI) The numbers of measures of centeral tendency are ___.

(A) 4 (B) 5

2X7=14

Attempt the following questions.

1) Define arithmatic mean.

Il) Find mean 12, 17, 14, 20, 24.

lll) Find harmonic mean 12, 5, 8, 4.

IV) Define histogram.

V) Find median 2.3, 2.7, 2.5, 2.9, 3.1, 1.9.
VI) Find geomatric mean 2, 4, 8.
VII) Find range 12, 6, 7, 3, 2.

Attempt the following questions. 5X3=15

ce UMW Fs Qi
(C) Circle »415 (D) Triangle &t
~e2-3?0,1,4,6,7,9,1250 (M
(D) None u.?ﬂ/
e WS e s IV
(D) Central tendency/G-,($ /}
gL enl s’ (v
(D) Mode 56
gt Ly (Vi

(C) 12

(C) Mode 2k

(C) Quartile LItz

(©) 6 0) 7
IS e S s

g S0

12,17,14,20,24 _ sl

12,5,8,4 —/Jp s 74 QN

srl L 8¢ (v

23,27,25,29,34,1.9 /st (V

2,4,8 bl (VI

12,6,7,3,2 - /e (VI

SIS S5 pie

1) Find arithmatic mean by indirect method (Short) 12, 17, 14, 20, 24, 29, 35, 45 -q/?k%wc(/?),@)w)g (1

2) Find standard daviation

12,6,7, 3, 15,10, 18,15

LSS (2

PN AR Y S ST IR S-Sy S § IR ¢

3) The measure of a central angle of a minor are of a circle, is double that of the angle subtended by the corresponding major arc.




TEST» 7 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
1) Union of 2 non collinear rays, which have common end point is called: ‘Lm&ﬁmJ}‘/r/.gWounﬁb@é» a
(A) Angle sl (B) Degree u’jﬁ (C) Minute <= (D) Radian ¢/ £~
) If tan @ =~/3 then @ equals . -l 0 I tanf=+/3 /1 Qi
(A) 907 (B) 45 () 607 (D) 30°
) sec@cotd equals . eIz secBcotd (N
: 1 1 sin &
() sin& B) Coso © Sino O coso
IV) Sec’6 equals . -eslz Sec’d (IV
(A) 1—sin* @ (B) 1+tan*é@ (C) 1+cos* @ (D) 1-tan* @
V) All trignometric ratios are positive in quadrant. -uj‘@ﬂdu{*ﬁ Jgffﬁg: & (v
(A) | (B) Il (€) Il (D) IV
E4 r
VI) 5 isequals__. s (i
(A) 157° (B) 157.5° (C) 158’ (D) 158.5°
Attempt the following questions. 2X7=14 -Q/J’/.:«UVJ: sounr | K@ /,‘U’r‘
1) Define angle of elevation. -q/_,g/&w,,u a
Il) Convertinto D°MS" 225.75° 225.75° -J,,/J:/‘.’:Uﬁ D°MS" ,,(:,lj n
) Find € when [ =4.5cm,r =2.5cm [=4.5cm,r =2.5cm ﬁ&.[/(’l’” 6 Qm
13 13 z
IV) Convert into degree 1_67[ 1_67[ _J"/U“’,é‘uf.‘d/f (v
V) Express into single trignometric function sin®x.cot® x sin’ x.cot” x _uf‘i e F Jd‘@égf»u (v
VI) Show that (1-sin*o)(1+tan’*9)=1 (I-sir*o)(1+tan’*0)=1 _ Sl (VI
VII) Find area of the sector where = 6¢m,0 =607 r=6cm,0 =60° ,}??Q/'/()’”J/Ka/’bélb} (vl
Attempt the following questions. 5X3=15 -Q:/'/J,}(@U’}”J: Sounr (3/.‘Ulr
1) Show that (tan@+cotd)tand =sec’ Il (1

. PO 7N . 4 z
i 0 S S FSLinsing <0 ytand =2 N1 @2
4 .
2) |f tan6 = 3 and sin & < 0 then find other five trignometric ratios on &

3) Any two angles in the same segment of the circle are equal (& sl Us Ol o babi gLz 1s; (3



TEST» 7 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf@a}b{.,,lz;vﬂ
1) 20% equals __. sz 207 Q1
(A) 360’ (B) 630’ (c) 1200 (D) 3600’
I) sin’?@+cos’@ equals___. -zl sin®0+cos’ o (Il
(A) tan’ o (B) 1 (C) -1 (D) None L0
1) Sinz equals . -~ sl Sm (|||
cos’ @ co
(A) tan* o (B) cot’® (C) sec’ @ (D) cosec’d
IV) In which quadrant angle SIn@ <0 and cos@ <0 Jies__. Bt il €080 <0 Lyisind<0 _sl5 IV
(A) | (B) I (€) Il (D) IV
V) equals . —e sl 377[ (v
(A) 115 (B) 135 (©) 1507 (D) 30
VI) If /=6¢m and ¥ =2cm then 0 equals ___. -0 dnr=2cm [ =6cm /i (VI
(A) 1 (B) 2 €) 3 (D) 4
Attempt the following questions. 2X7=14 -Q’/J’/@U’}*U:L?Jﬂ
) Convertinto sexagesimal system 125922'50" 125°22'50"  _ s Stk st Q
1) Find / where @=1807 and ¥ =4.9cm . r=4.9cm 5 0=180" gy Lokl
INl) Find area of sector of circle where 7 =7¢m and € =20° q/pl‘i}/bl?‘a 0=20° 700686 AN
IV) Define angle of depression. -u/.»y /UJ;'/’,;U (v
V) Express into single trignometric function tan xsin xsecx tan xsin xsecx -u:"‘@i‘d‘@élgﬁwb (v
vI) Find the angle of elevation of the sum if a 6 feet man costs a ,L«Kdﬂc.i&6ug,?q/(%f‘,ﬂj KT (v
3.5 feet shadow. -e 2435
VI Show that 225 _ 14 tang SINOFCOSO 1\ tang s fente (VI
cosé cosé -
Attempt the following questions. 5X3=15 -Q:/J’/@U’}*U:L?Jﬂ
1) Show that COS” 0 | in— cosectd gk (4

sin @

-J/?PU”J’JJ‘ (}U}’u"d/;/uul,dw]ge 317 cosf =— /7 (2

-2
2) |f cosO= 3 and terminal arm of the angle @ is in quadrant I, find values of remaining trignometric functions.

3) Any two angles in the same segment of the circle are equal (& sl Us Ol o babi gLz 1s; (3




TEST» 7 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
I) A complete circle is divided into . g < wgﬁju%uﬁ a
(A) 90° () 180° () 270° (D) 360°
1 1
)] Ecosec459 equals . -~ s Ecosec459 n
1 5 1
A) — B) Y3 c) V2 D) —
(A) N (B) 5 (€) (D) NG
lll) cosec’d-cot’ P isequals . -czlz cosec’d—cot* o (Il
(A) 1 (B) -1 (C) 0 (D) tan o
IV) 1-cos® 6 equals __. -cslz 1=cos?6 (IV
(A) tan’ @ (B) sin* @ (C) sec’ o (D) None
V) Inwhich quadrant 1707 lies __. ?‘at“{pggui'&d'/WO" (v
(A) | (B) Il (€)1l (D) IV
VI) Area of sector of a circle is measured by ___ - L“l_ag(}":}/ £ 0L (VI
r 1
re 2 -z 22
(A) (B) 7o © 5 @) 57
Attempt the following questions. 2X7=14 -Q/J’/.:«UVJ:;L?/M (2/,‘Ulr

I) Convertinto radian 3157,

Il) Express into decimal form 60°30'30”
) Find r where { =52cm,0 =45

315 g/ wtgts A
60730'30" _ s Stk e
[=52em,0=45" g s Jolerr (N

IV) Point (-2,3) lies on terminal side of angle €. Find Sine Q/'/()’”oxf_‘aéb/?u‘;dcﬁlﬁe 211 (-2,3) 5 (IV

V) Define angle.

V1) Express in single trignometric form sin’ x.cot® x

VII) Define sector of a circle.

Attempt the following questions.

SIS (V

sin® x.cot® x _uf@:‘_)‘@@gfm, i

_J Sy bt (il

5X3=15

1) Prove that

IS e S s

tane+cote =secocoseco

_Q/cvzt‘ (1

_q/(}**d}:l.:_uﬁjd/w/wéz_/&ym{}ﬂooo_g.“/’b@’w/vg/?gudiy 807 5 (2

2) A rocket is launched and climbs at a constant angle of 807 Find attilude of rocket after it travels 5000m.

3) Any two angles in the same segment of the circle are equal ugLn/.l/.ﬂL:undbuﬁu’lwﬁgﬁugﬁé_w (3




TEST p 8 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)
I) How many common tangents can be drawn of two disjoint circles? ?ugélg;if‘/ J v }" Pl/éuu’bé’ L“&/f» a
(A) 1 (B) 2 (C)3 (D) 4
Il) Aline intersecting a circle is called: _LLL“/GBL/’!;;?(?VMV‘G ([
(A) Diameter /'3 (B) Chord s (C) Secant blf' ¢ (D) Tangent UV
lll) How many tangents can be drawn from a point outside the circle? -ugi@:iﬂj V_LL//DL,B](})/;J( an
(A) 1 (B) 2 (C)3 (D) 4
IV) Two circles are congruent if their radiiare _ug_uluéuifiug“gmﬂ?“;/’lw (v
(A) Concurrent J}J(Y (B) Parallel ($J15* (C) Congruent J&L?*‘ (D) Equal -«
V) The three bisectors of the angles of a triangle are ___: Ul e t&ug;uﬁw (v
(A) Congruent J&L?* (B) Collinear L34 (C) Concurrent ,LEJ(? (D) None JJ'G/
VI) Portion of circle b/w two radii and correspondng arc is called: ‘LL“M _nml/;;u i:aw,iuru»zyu ke 715 (VI
(A) Sector £ (B) Segment 5 (C) Chord » (D) None 4y
Attempt the following questions. 2X7=14 "/: L@lﬁ/?z:.:aﬂifdj Soun
I) Define the Geometry. -L[/ué’/].tfd/%:? q
I1) Divide an arc of any length into two equal parts. -q/r:yuﬁuw’/.u»/u}&éw‘f n
Ill) What do you mean by circum circle? ?+;yg¢;o;l;o/v Cm
IV) Define isosceles triangle. -Q/Lé}fd/wyg Jigst IV
V) Practically find the centre of an arc ABC. -J»J&‘ﬂ} ¥ ABC L@Md’ (v
VI) Construct AABC when the lengths of the sides are 6cm, f(6gﬂgungcw’£&¢/u AABC (VI
3cm and 4cm respectively. ~Un 43
VII) Draw circle which touches both arms of given angle  45° ‘Lt'/:/ fu@)@ui»égﬂjéf e "oty (VI
Attempt the following questions. 5X3=15 q)}/’.puzwé.pmyd Soukr

-uj?’{jtf..«(]-&wuﬁu;/’bul-ug{,lﬂﬁéf8;/’bu’;l/» (1
1) Two equal circles are at 8cm apart. Draw two direct common tangents of this pair of circle.
i AT L 18- o 10 P ABCEL L oISl (2
2) Circumscribe a circle about an equilateral triangle ABC with each side of length 4cm.
‘Lt'}’a':dU,.?/"‘)‘}’ZJ:D//’)JE’L}{C’_«J-‘JKAILLt’ﬂd}ljb)la‘%u:b//b}bgcb/.é’——ﬂﬁ%t'ﬂ,:}'j";/g}’lu:b//l)}b;ﬂﬁdﬂ] (3

3) The angle 1)in a semicircle is a right angle, 2)in a segment greater than a semicircle is less than a right angle,
3)in a segment less than a semicircle is greater than a right angle.



TEST p 8 MATHEMATICS «€10th»> (U*L) gualy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

b}'UbL/{‘fg)’/;/’b q
(D) Tangent W
_%&njiﬁfd/gﬂj&;/gﬁu’ﬂ(ﬁ;g (n

I) Aline intersecting a circle is called:
(A) Radius (1 (B) Chord 7

Il) The measure of external angle of a regular hexagon is:

(C) Secant b(‘f ¢

T T p/d

(A) 7 (B) 3 (€) 4 D) 6
Il) Angle inscribed in a semi circle is: _+bn,;ljszgﬁ¢}i;ﬂ an

T T /4 T

(A) 2 (B) 3 ) 4 D) 6

bl AL (v
(D) Secant b(‘f )

IV) A central chord is called___.

(A) Diameter % (B) Radius 1/ (C) Tangent U'W¥

V) Atangentis a line touching a circle at ___.
(A) One point B[] (B) Two points b(s»

VI) Tangents drawn at the end points of diameter of a circle are:

(A) Parallel ($J/5 (B) Perpendicular [ss%

Attempt the following questions. 2X7=14

1) Define and draw a figure of inscribed circle.

Il) Differantiate between escribed circle and circumscribed circle.

IlI) Which two greek words are used to derive the word Geometry?

IV) Define and draw the sector of a circle.

V) In acircle of radius 4cm decribe a square.

-‘at‘/g;/?_/;/’bu’t/g;//b (v

(C) Three points bELL (D) No point JJQQJK
L E2 0680l BLe Sl (VI
(C) Intersecting (‘f} (D) None JJ’G/

7 e P e Wi f s i
LS Eg S s
_u:/gb&/.d:o//bo/lf/)lo//bdlg (]

S Ul bWI0Ey e o BIE S A2 (I
LBy LSS s (v

LB Sain sivdem (V

S b LA Z UL 13 5em (VI
_U%Vdjﬂjio//béu’b/3cm QY]

V1) In a circle of radius 3.5cm describe a regular hexogon.

VII) Draw two perpendicular tangents to a circle of radius 3cm.

5X3=15 BTN SPAN (3~ i

Attempt the following questions.

UL 36 60" AL ol f a1 201 (1
1) Construct a circle of radius 2cm. Draw two tangents making an angle of 60° with each other:

_uﬁi{ijJ ;-%Lutug(m,t( 3l s nd S d”:; (2
2) Draw two common tangents to two intersecting circles of radius 3cm and 4cm.
e S el A mbens” (3

3) The opposite angles of any quadrilateral inscribed in a circle are supplementary.





